
ARKA d&H&&UmiversEfur, 
"trharffiramd2"dEnd SemesterExamination _ 2AZO

Subject: Mathematics and Computer
Course: Biotechnology (2019- 20

graph of the equation x+y-1 : 0 meets the x-axis at the point

i) (0,1)
, I l,;

'1:.:

ii) 27%
.::r! 1'..,,
:riJ -1-i..',r

iii) -6

( -1, 0)
( 1, 1)

if logr4+ 1o9,16 : logx, Find x

,1a

l2
20

rf 63% of Indian like milk and76o/o rike tea, how many like both ?
29%

None

Find k for which the system of equation s x*2y:3,5x+1qr: -7is inconsistent?
8

-10

If (a/b).'' : (bla) *r , then the value of x is
%

1

,ji

712

6' Tirr: lttean t-)r average ttsecl to nreasure cen.tlal tenriency is calle6

i) sarnpie prean
ii) lir:l'r:rt,: j"i,j i:lJ:t'l
iii) nega{ive niear
ir') popltlatroir uicar:

7. 'I'lie arithn:eiic rtreait is 12 iiircl tlte numlrei'of olisei"vil{icils are Jf} ihcn the sum of all the values is
l i:i;":i,I ;::,1
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5.

i)
ii)
iii)
iv)



ii0

ir,) 1.667

B. Il the quartiles, the central tendency median to be measured must lie in

i) first quartile

iv) tbur: quartile

g. In a gri:up of 20 chilck"en. B cirink tea but not coff'ee and 13 like tea. The

nuurber of chilclren ilrinking cof{be but not tea is

i)6
.,,:''..,:.,

11) ' 'r,

iv) none of these

10..A and B are rwo events such that P(A):0.4 and P(A n B) :0.2 T'hen P(A f^t B) is equal to

$ a.4

b) 0.2

c) 0.6

ci]'*,g

1 l.Wren two coins are tossed simultaneously, v,rhat are the chanees of getting atleast one tail?

i) 't,'i

li) LlJ

iiil 4.ls

iv) %

lZ.Whatis probability of drarving two clubs fi'oru a well shuffled pack of

52 catds?

[) L3lsl

ii) Url
i:!i li^'*
iv) 13117

]1.[f ]t*ir :27 e,nd l(x-r)- 243 ,thenx is equal to

i)0
ii) 2

v)4
ir,) 6
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14.What is the Cartesian ll.ocluct of A : .,r1,2, ancl ts: {a, b}?

i. ii,i'"',1i-!j, {. ir.i:i'}, i.,,,ir;i, 1,h:",;r1;

ii. {(1, 1), (2,2), {a, a), (b, b)}
iii. {(1, a), (2, a), (1, b), (2, b)}
iv. {(1, 1), (a,a),(2,a), (i, b)}

15.If A and B are sets and Au B: A O B, then

i) A:O
ii) B: O
iii.l*,.r,1:l"A,*.9

iv) none of these

l6,In aclass of 72 students , 47 havebackground is Electronics, 59 have backgrould in Mathematics and
42have background in both the subjects. How many students do not have background in any of the,
subjects ?

2. 13

3. 25
4. 33

17.rn a simultaneous throw of a die, the probability of getting a prime number ?

iii) 2t3
iv) 314

1S) If the vertical lites are clralvn at every point of straiglrt line in frecluency pslygon thel by this way
the fr"equency polygon is transtbmred into

i) r.vidth diagrarn

iv) dirncnsir:nal bar charts

19. In k:garitlrm, the irletperty of logb is equal to

1,1 7i11'{}

ii) one
iii) rrirrus one
iv) t\\,0

7ry,'{'lll ,1.,:r,.:,i-:,i. il',:trirtr"t.'v r'?1,::>i-i.1:+ti.t'l|t i.f."t t;r,, $",14;y, i:el, !! {l:,llai

,: i

ii} rr;riiur:

l,'lt' :,. :,
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iii) range
iv) meeril

21. The sunllm&r\r st*tistics rvhiah rllerrsure tEie xnicldle or center of the ctrata are caLled

i) logaritluns
ti"j t:1e":s'ijr{::,$ {}l,J*lt{f-i}l {i}J}{.}t}i1{"v

iii) ruleasures o1" tlisie.r"sion.\IVJ proporlrons

22.The sum of deviafions of values fc"om their l&ean is alrvay

i)t

iii)2

iv)3

23. The averfige of a[ observations in a set of data is known as

A. median

I ffi*$su, ff{#41&

D. mode

24.Tbe median in the set 6, 4, 2r 3,4r 5r 5, 4 rvould be
A

8.6
c.5

25. A set containing only one element is said to be

A. subset
B. singleton set
C pi).wer set
il-, , r, e*rpt.v sel

26. Ef A:{X, 2,3, 41 amd B={4, 5, 6,71 then AUB should he

c, {4}
D. {I,2,3,5,6,7)
27^ Statistically, the spread

A. discriminant

or scaftemess of observati*ns !n a d:rta is caltreci

C. rarlge
fr. st*nclar cl deviatir:n

28. 'Xlhe ynerr* *t the squared ctel,iafi*ns of somre tyi*serl,atiEnas t?*m tnaeir :rrithmetit mean i:i
trt)tl!-it

A. standard deviaiion

O. rnci,liari

A. {2.3.4. s.6.7

1 .' .. : ,, ''',,



B.
C.
D.

D. n10de

29. The positive square root of the rnean of the squared deviations of some observations from

their arithmetic nlean is callecl

variation
median
mode

30. The rneasures that are used to determine the clegree or extent of variation in a data set are

called

inea11

median

D. ffieasures of central tendencY

31. Which of the fi:llowrng alathe ir4:ut clevices?

i) I{e3iborircl
ii)tuIouse
iii) Cald reader
v) ail of tilese

ii)Resister
iii) Hard disk
vi)Main rnemory

33. Which is the folLorving is the part of central Processing unit?

32. Which one has the fastest speed?

i) Printer
ii)I(ey board

34. Which of the following is a storage device

35. Wliich of the fbll:rving is an output device?

ii)Key boa.rd

iii) lvlouse
ix)None of tlrese

i) Tape
ii)Hard llisk
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